e

A
AME Rolfeg)

h13E Ause
H32l M5 Fnso EHIHAS 3% 39| X1

O ¢ | - 20234 78 25¢ (=hH 16:00
O % 4 M5 FOME 25 SUARH
O ALY . TH|I2R2 S| M, APR=, 24 354 &
IR
1) 2449 EHWIAF A AN EE 21t
D2HAY FUS MY HWAE> MY
2 0f dH At ¢ = 9 a i
1 et ZSECIY)I AHAYEL RO TAM UK 7200000 X H
SYO0IE 2IIE AESE E~ sMFTo| A2
> HEE‘}' K7 EH X X]
1) AR QH| : 9,600,000 e
- ZHAAEIH]: 2,500,000 *22]=5,000,000
o (ZARAEZ} DfCh A0 U0 M2 H ZHER)
- -HH[AXK B, 217 |, 22kS)1,300,000+2%]=2,600,000
=] 2 - ZAH, 2|22 5 FNZ : 1,000,000 10,000,000 !
- SALE A EH OF7H0|E 11,000,000
NEE
1) YA EH| : 9,600,0002 %

- Z2AAFS HH|: 2,500,000 %28 =5,000,000H
(89, Oh, B3t SO= PHE)




OEME 2Tt CIX|E AL} s
SHALR EH| : 4,120,000

ZAHH|(32, 2A1ZH) 150,0009*1H*63] = 900,000
=,2A|1ZhH 90,0002*1 H*6%| =540,0002
(el &) = 500,000
AIE SEASHEH| 10,0008*40%F3744h* 28] = 800,000
Xt 1,000,000*1CH*1E = 1,000,000
A0E 7Y = 380,000¢

H|X| &= : 880,000
SASTIsH| ZHAH| 4,000 *40F *4%] =640,0008

TSN EH IR neds TlH| 55)

WHE
1) AR | : 3,280,000
O ZAH3a, 2A|1ZhH 150,0009*1E*63| = 900,000
O EEZAEE,2A12H 90,00094*1 E*63]=540,000H
O ZEH|(@2HH &) = 500,000
O 71223 YUx} 1,000,0004*1CH*1E = 1,000,000
O AtR#e| A2F 7Y = 340,000
2) YALAH[X|F : 720,000
O wSAESTIHH ZHAH| 40008 *40E*3%]=480,000
O AlCHH| 8,000 *10%H*2%]=160,0002
O ChabH| 4,000 *10H*23|=80,000
XADEHHAUSHIEH|S ARfsln wSHSTIRHIE 2

5,000,000

4,000,000

o
[y =) =
SME QMLHY BN ->RE|GE SME

6,000,000

Al

FME it UTCHRORIE 1128 ) HIETER ALY

12,000,000

X U IHM At (M2 Z2Jo)

O AMASIK . FM4FHEROHI|SEHAE)~13
1~ 671Y ~771Y S FME

MAE

-AFERIK] - Mol SHER (ME) AFY 9K HE

- ME C|AMKXIOSHER|(=AEZ 217)0]IA

S22 W WKtZ2(=ME 275-1)77HK]
- Mz FHO| 2l MAEE Mg S VIES &

18,000,000

«—

o
SME BHAZUSDIISATIGKIALHDS>

[ =

20,000,000

=HOE0M HLE =0|H

23,600,000

S A EEEHHE Sl==0l 2X~elEBarH

6,400,000




ol

9 M

o N
80 I =
- i - KO
% N 5
RO Y o & S
= pall Pl T od —~ 0 ol
4R N OF KM K2 HE = . Lo Kk
5= o & o < o - ] ST
S R . N S S o
o+ s wE 2 i A L
o1 % 0jo ok w_m = w__A_ H o R koo o Ko
or = - _H_ o Ll _= oK A._ = N < _Hu.ﬁH_ w. =) ~ ~
0y O =@ = s HE el I h g
N~ OH T R ® aRr KU gm0 2 W ook KA D0
sl o= = R0 ol gy T R o RO S = _ Klg 8O ol = T
.__A.ﬂﬂ_m_wmmﬂ_ah%m HHOQHA“:HMOWMMﬁmeEEMOLW
RaHxs g & =H =g T o 0 g M
@||_.+Homuﬂ47HHoAT%LE_. _“EW_EAs_.HMo KH ™ K4
o DT R g KT P e T N L A g
i % ™ I R oN 3§ o < O oo T B KO oo K8~y H Bl 30
K <4 ol dl= << f0d K — ~ W
szoagEH1r+woaaEE5H| T Yo = U o Ho oln
C T § X 00 m 0o XD X0 = ol & % ol ol B G XM
Lo :§ox_||_k|x._.roL|L|._.0nL_toa._J|I=_|
L B R EAAcomoxTMuo%momw_
— ! ! ! | | . u
oF! < _ e
% 80 od o_._
> 4o ol B0 &0 $H
1o = K T 30 3
ul K O - =
mq__ TR -
T T 80 il
4o oo 0:(0)
<0 o wa O
_t oo = 4o o
KI 0 wo
0




> ASF=

ZX

E

A

K

= X

e

|2|=H|, 2

.
—r

ol

-

ol
3

10
ol

gl

Lo

-

~NO
Klo
<

.
—r

ol

-

ol
¥

104

!

-t

ol
¥

104

-

KO

K

.
—t

od

s

H

/ 2

oF

970 AtE AlSH / B, EZAEAQ

i[d
Ho
K]
Bl

1

2) ANI-™AH

%0
)
Tof
Y
=
o
=l
i

L A =

o | &= | w | I | U

w | o H 2 | T

M g W o & %

> | = T35

k&8RS

L o

X HE =9 (FEEX W& EHAR)

£Hg

]

3

Ko

{o
%0
Tl



4] NIHMER e =9

.. 11

o 4 =
T %0 1
=1 zu A
A o
kI =~ v
O O O

FU7HA] & 3= & A

L

ot
7l MHEE

5. FH

: 2023. 8. 14.(&) ~ 8. 25.(8)

: QREE 3 URLAZ (http://m.site.naver.com/10ac9)

=5

o
|_

f

qn
ol

: 2023. 9. 1.(=&) 12:30 ~ 15:00

H 5 U BHeE 135 FH3td 5 3l

U,

'y

# 9

wl o7
kI w0
ofl 3T
H H

Sl B
L0 10

O A& AHAICH( 4%2) SHAEa2|SEh 8. 5. ~ 9. 1.

ar

2 195 ol DMC
MZ 216 DMC SK

H

=T
A

1o{0

pA=IN

=
TT

ﬂ
<

=T
<k

1o{0

=T
<k

e 25 H2H0 AAl

il

KF

=

[Ne)

AH
oF &
o
o N~
o o
< %0 o
o ol &I
{F oF B0
B K+ oH
o O !

| 4%t l9| 2

=2

H| 2]

=
L



80
Ok

Al
o

o[
1100
o
gu
To
okl

mm.u

ujo

1ol

12| 2jZ20]| ri=t

QA 2RI

hud]
=

o

ol

2%

2. Az A =Y

oiles

o A2,

(o]
=]

ZOIMERAT

ANE R

AF
4.1 4o| 2o

_z._o

| QRHO|| ok AR

ey

0

o1 %

S

Tol!

ol

7ol
Xr

_z_._._._

4 et

Sk
=

tofeh EI0|IA HYE

z
(=]

TSl FUAR|2|e] 2|1 ArZE7| R A=l 7fzleth. O

H19=(FTS2AN.

ol
%O
N
mjn

o]«
i~y

o

=]
-

Uzl o2E A US| 7z o

To!

~a

2] 1%(M

&o

of0 ZF2|A

o E

b=

4. ZD153| M2 A AR (A

5. 20IE8E RN AR ARSY

my
0%
<k
E_
T o=
ol
KO
U M
[m]
o K
iofl )
T 1
K &
< O
W s
o| ol
o0 o
~J O
M K-
o
+ &
ol 1o
2y
o =3
zr ofu
o Hio
. Oh
oF
m..__ mn
H
oju ofo
ol
= N
=5
X KO
<
ol ol
Mo o
ol o
Kk XF
o~



